10.

11.

12.

13.

14.

15.

16.

17.

18.

Calcolare i seguenti limiti, motivando le risposte.

lim
n—-—+o0o n — 77,2
lim n —narctann

n—-—+oo
—1)" 2
T G e
n—-+4o00 n2 +1

. arctann
lim

log(n +1) + /n

n—+oo n + arctan(n — 1)

1
lim nlog <1 + >
n—-+oo n

) n?+1

lim arctan
n—-+4o0 n?—1

: n? n

lim 2" —2
n—-+oo

: n2+n

lim (—1)
n—-+oo

lim nsin(nn)
n—-+oo

lim cosn—n
n—-+4oo

2™ — 4"
lim

n—+oo 3™ — n!

. n3 — Ccosn
lim ——
n—+oo 2n + (—1)"

lim (4"

n—+oo n!

1
lim nlog —
n

n—-+oo
. 1—(-1)"
lim (1)
n—-+00 \/ﬁ
2
e +nd
lim
n——+o00 nm

log (75) + log v/

lim

n—+oo  2log(n® + n?)

[—od]

[non esiste]

[0]

[+o0]

[non esiste]



19.

20.

21.

22.

23.

24. lim

25.

26.

27.

28.

29. lim

30.

31.

32.

33.

1m
n—-+4oo

n——+0o

lim

1

log(n3) sin 1

2
lim n? {log2 (1 + > —
+ n

n!+5\"
(")

2cosx

—sinx + cosx

lim 7Sin2 (%)

x—0

22

cos (Ex)

2

z—1 sin(mx)

lim (1 + 3sinz)®"”

x—0

lim

x—0

4ZE

lim

log(1 + 2sinx)

tanx

— hZ

z—0 6T — 3%

r——4o0

2r +3\ "
6x + 7

log(1 + ¥/z)

$—>0.Z‘+21L‘4 —|—Z‘2

lim

32 4 e”

z—0+ 223 + log x

li

. Vx —2log(x —1)?
m

x—0

(2 43

-8

li _
mir}lm log(l + e%)

lim
r——+o0

(z+1)log(1+ 1)

X

n2

|

[log 4—10g5]
log 2

[+00]

[+00]



